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The proposition below is proved in [ l ] , 
Let A be the operator on arithmetical functions such that 
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when x is not a root of one. 
Now, let f = ju (the Mobius function) and let 

= 1 on 1, 
' = 0 , elsewhere . 

It is well known that Aju = rje Now, S x ?7(n) converges. It follows immediately (by 
induction) from (3) that R (n) = (-1) /nS and hence that 

°° w(n)/n ^—"% / i \ n 

n X n=0 
(when x is not a root of 1); thus 

e = fl (1 - x ) 
n=l 

off roots of 1. 
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